)

I &4
THEFT
3 T
T

\v]

i

A A

TSEEHE) AETFELOLOTTNIANLEEIE

BHET WE F 58 HR

T

g

a4

1E% Bl AL

7H 14 B8 AR

&Ff 4 TA20R b Ff 44FE11H30RET

HEIT)-MEEBRET E~EE436.92nf (BBHIS3E3 8588
-BEES AR ERABEDIREREBR RN

- MEdRS A A
-REREMNELE

BIEHIR | ers 1o weal T E| ETE AT ErR| 3 g | eTs HFT L mAM
i % I < 31 /30600 1 % 2 84| vo0
BB 2276 000 (HEBER
AKLO#H KR & % 1 AL 8 2 FAML % 3 B AL
T 8| +FT I MU FETHE| +FF BE+H|+EFE] +HF "+ H
B A e oA AT A
.J|370| 000 Jlosolooo| . 29p0 00O
RS T _J|85%o0| voo Jlf20 000 #4R
flie T8 AR ER
(ﬁ)%}é‘%%%ﬁ .3 kpolo00 Jlo70|000] - 5 94pl000
i EAR AEE 3 b&o 000l 3|ro0 000 R
R R ) 6%0 000 J| /220|000 219201000
s o5 2 Qéboopp| 3150|000 #E
A TR TR 3250009 ;1950 l000| . 5450
0 fIL L0 2. 9/5000 m Grmmes 265,000 )
@ LK FRAL & (FHRALEX0. 1) 29/, ¢v0 g
@A GEEEE X 0. 45) * T EA S i
..................... /'300/000
® RS GERAUEX 0. 2) % 5 B I% M

00.0. AL

(93.07)



A

Fl

10

=
=

S

R YN

44 7TH1 48N

L EEA  amasE mETER/NEERETERHEBRE
2 EREEA AHET BE F BE/R #A
3 ZRLEAM H AFE TH20H»LSM 4F10HZ21RET
4 FEHHEE WEETER/ NEEREIERTES —K
-E/AEERETRREG (RE-ER TR
CRAISAEERE FL v RS —MEREET
EAEE 1,817.24m(1~65 Ft6fS)
?T’, ’/_f ETE +FT §l+F3 7;/3 % BT & +§? AR Sk
i ¥ 6185121000 | qutmenro 51920 o0
A EF K A 51 EARL # 2 [FELAKL B 3 [ELAKL
| +EFE| AT EAR|tRTFE| +SF | BB AEFE] LFTF | BE+A

(Hi)ﬁm%ﬁﬂ' 6 4{00 000 .. 5 950 000
(G de s S S 6250000 51900 | 000
s S R 4locoloco| 5| 800 000] T (99.97%)
EA AR 6300 000 £ 900|000
R B e B T 6| 600000 | . 5|80 | 000
(B R SRR AT BT 616001000 < &1970| 000
(RS - Z2fIERE 4 ®oo|o00O #E
B #TRREH 6180000y $1 %00 | 000
O a4 (Remx1, 10) 6,380,000 M Gnmesm 550,000 )
O 5L PRAT & (FHAKHX0. 1) b638. 000 M

. @FILE




(K]

=R YN

A K oW =

S 4% THA14BAR

1 Z A FHAFE AHRGRATENEFEHIRRIAERET
LRt Al ﬁE FORY HBRA
3 ZERCHARG EF 4F TH20BMLEF 4F10H31HET
4 FEBPE WAHTERTEREEIRIERIXT
Erﬁiﬁf‘%ﬁﬁuﬁﬁﬁﬁﬁ?“ﬁiﬁﬁtﬁﬁuﬁ4Jbﬁﬁiﬁﬁﬁ"ﬁ@ﬁé%f’s‘IE!I$
BT ELRETAIVEENEORERIBIE
7 " IE;JFEE-'I-')ETE{"{"F] % & E¥HE --|-ﬁa:§ B+ H
i # 2 /78 000 | WEEBERO /! 9Fo | 000
A K OH K 4 % 1 [\ AFL 25 2 [ AFL & 3 [H KL
| FETE | +5F | M FETE| bAT | EERtETE FAF | BN
@ﬁmw{n ' o :
/17001000 (98l95x
R R ST ST 21706 | 000
EESIUE T o
PR SiaR E T T 3 200|000
[l A '
21250 |poo |
RES - Z2REE 3 os0lo00
PR e a0, 2,092,000 M Gomssg. /50000 z)
@RIt S (GERLHX0. 1) 209,000 0
| JEIIE7 GERSHX0, 35) * 75 BALGIE

/80,000




[Fy

T # 4
THHHT
3 L 8
T

[\

B

Ho R A AL

A oW F

Sf 4 T7TH1I4HAL

4E110045 KF/NFEHBERLEEBRLISE

BT £EH F RR #HR

i 4% TH20H 2L A 44410H14B%T
#HIHER 1=36.0m RE W=5.25~5.50m

£ B L(EEFHEA0F=5cm) A=193m2
EBEER T (R B A M-40,t=10cm ) A=201m2

TR T (RC-40,1=12cm) A=73m2
TREEET (RC-40,t=18cm) A=66m2

FASHIE | erm vsr mam| T B ETE GFT w4m|l gy gl wFel rmT | aem
i 2i525 i ooof| 3l wds Foo | M H 3| s67]0009
(B <) ‘ GHEBATRS)
AL EFE K 4 1 EAKL % 2 [H AKL 5 3 [ AKL
+eTE] +FF glAal|lt+tEFE] +FF 4" +€%=F"'E1' + F F 7+ H

A

i JiSoolooo| 3 /00| 000

it BEH
WoEER S]200 000 . 3000 68%)
RSz 2500|000 3 /50| 0oo
@i fi o (R, 1) 3300000 L OnseE 300,000 )
@RS BREEX0. 1) 230, 00 © g
®nithe (GEE A X0, 45) % J7 BATEHE
_____ /+ ¥ov.000

@ T iEATHGE (R4 X0, 2) % 75 BT =1 =




A

FL

W E

il R Ah & — e AAL

SFAET7TH 1L 48 AR

1 T HE 4 45488110015 FAETHRIRER K EEIBTS
2 TEEET ART /A F OKE HES
3 T FHAETH21H b AM5F2HA10RET
4 T HIBEE L=567.8m 88 W=6.50~10.85m
& B I (HEEREAS20F=5cm) A=4470m2
FERERT (BIBERAVFEEMNE=18m) A=4100m2
TR (RC-40,t=17cm) A= 381m?2
%{&%Uﬁﬁ E#¥e +8FH @+H % ’fl:: ErE 44T A j’;‘ "jéa- BTwH A4ET IR
i % 43| 8/6 1300 | ummama| 39 &332 | 000
(HRBIR <) §éé | 000 7
AL F K 4 1 EAAL % 2 EAKL # 3 = AFL
+EFEET | FhE | Er@(rETE] +FF | B®
R 1AL
: 37 500|000
ol T 39 o0 | 000
(PRI S 40| 0060|000
H IR %/ 000|000
@ AL (EiLesix1 10) P, %50.000 N GLusmm 3750000 )
| e e o (BERAEX0. 1) % ,3%8, 000 =
| TIEi GEASHX0. 45) % T HArgIE I
o /9, 5v0.000
@ L aiAE GERSHX0. 2) % 7B HE [t

& foo.p00




AL

B R & — B ARL

SFIAETA1 4R ML

S, 4o0.000

1 T F 4 ARELIONE BE/NHABERLEEIETSE
2 TEHHT AETEE FEH B
3 T 4 THMAETHZ21IE b SHME5FE1A30HET
4 TEEE HIREEL=154.5m EBW=7.2m
# B IL(EEEHBEAS20F =5cm) A=1,430m2
FIERRT (HAEASEEMNE t=5cm) A=1,450m2
T 2 B 8% T (RC-40,t=10cm) A=1,440m2
P J& B& 88 T (RC-40,t=30cm) A= 150m2
& B L(BS#HAEA3)A=40m2
|
BAESIR | wvs +u s+l F i grm AT RN 5 | €T ﬁﬁ R B
/ﬁ]ﬁ 1% i : ' i roe 3 [&] O 0
ssm | 20]8321000 i M| o5l g4y ooo |GEBARO| 24 040
A L F K 4 551 HEAKEL % 2 [E AL o 3 ELAKL
tEFE| +FF A+A|+eFE| tEF | Bbpn{+tETE vFF | TN
(i R
2b: 500|000
A s 25 900|000 AL (59441
(IR et A 24500 | 000 |
IS WIN A 27 pp0 000
@A Eiemx1. 10 28,%70,000 . GEMERE... 2570000 ).
OFMRIEL  GRELEO D 289000 "
®hiihE (GEE4HE X 0. A5) * JTHATIE =
................................................ 12,fe0,000
@ P [ AL 4 FEASHE X0, 2) % FHATEIE &



Rl BEAT & —AiE g A AL

A B
THAETH 1 4 BALL
I T %4 @ 45110035 FENEHERKSEALS

2 TEHERBEF : AEW BF F HoE MR
3 L B . SFM4FETHA21H »b SMSE1IH3I0RET

4 THEE . HEEEL=958m EEW=7.25m
=B (BT HEAS20F 1=5cm) A=714m2
IEREI(HEEASKELE t=5cm) A=718m2
T B I (RC-40,t=10cm) A=669m2
T B IR AR T (RC-40,t=30cm) A=238m?2
T B #R 88 T (RC-40,t= 9cm) A= 18m2

BIEHE | wxs 79 s+n|| TP | ETE AEFELNL g F| ®TE FAFL A4S
i - .
et L7l 540 000 i & 24| 177 1S00 | uamERO | 2 925 | 000
AL F K A 1 [E] AL F 2 [EAFL # 3[R AFL
tETE| LAF | AN | tETE 4 FF G|t ETE| AT | B+
R b
22 400 000
i o E R T3 220200 000
TR
(BRI ) 2’ 500 0(_2“0 . 9.06%)
EpREE
AR 23| ooolovo0
@B LA Eiamx1 10y 23,65V,000 B OLpEsmE  2,150,000° M)
@ L REE4: GERLMEXO. 1) 2,365,000 Fq.
®iiifhd: GEELIEX 0. 45) % 7 RAT TS A
/0,600,000
@ P HETAE (FBALEXO. 2) » FHADE m

«, 700,000




